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A knot diagranﬂ 1w ¢ Cip €4 Cg Ci2 €1 €8 €3 C7

Ideals for irreducible component#ﬂ)f Xpar

I = (% ™ 4 —u? 1)

* 1 irreducible components of dim¢ = 0, with total 60 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u4u®+... —u?+4+1)

(i) Arc colorings

a2 =
1
a1l = U2
U
ag = 3
6 u® +u

ag =
uS +3ul +ut —2u2+1
—u® — 4ub — 4yt

u? 4+ 9u® 4 —3u? +1 >

ayp =
a2 = \u?? +10u?0 + - — 10u* + u?

—ul? — 510 — 7ud 4 2ut — 3w+ 1
w'? + 6ul0 + 1208 + 8ub + u? + 2u?
—udl — 140 + . 2005 — 8u3>

az = udl +15u?% + - — 8u® +u
wt +25u52 + - —2u2 + 1
ar = \ w0 4 26u®* + - + 2u* + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®® — 457 + .- + du + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! uf —150°° + - — 16u + 1
C2,Cg, C7 w4 2u 1
3 b — P 4 12045
¢4 u — w4 — 976u + 457
Cs5, €10, C11 w0 w41
cs, C9, C12 w0 4+ T o+ 1760+ 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 YO+ 126y 4+ 1
C2,Cg, C7 y60+53y59+--~—2y+1
€3 y%0 — 7y + ... 4+ 266y + 25
€4 y%0 +295° + ... + 6707658y + 208849
C5,C10, C11 y60+57y59+--~—2y+1
c8,C9, C12 4% + 65y + - - - + 8430y + 289




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
= —0.073972 + 1.1639801 3.44486 — 4.072901 0
= —0.073972 — 1.1639801 3.44486 + 4.072901 0

—0.687972 4 0.4477401

—1.97103 — 10.123001

1.79388 + 7.773031

—0.687972 — 0.4477401

—1.97103 + 10.123001

1.79388 — 7.773031

0.680583 + 0.4560741

—7.13842 + 6.321411

—2.86224 — 6.818481

0.680583 — 0.4560741

—7.13842 — 6.321411

—2.86224 + 6.818481

= —0.634060 + 0.5149141

—2.22403 4 5.724011

1.08593 — 1.851201

—0.634060 — 0.5149141

—2.22403 — 5.724011

1.08593 + 1.851201

0.642018 + 0.5036731

—7.31878 — 1.927431

—3.47550 + 0.737181

0.642018 — 0.5036731

—7.31878 4+ 1.927431

—3.47550 — 0.737181

—0.664857 + 0.4668391

—5.12792 — 2.354661

—0.20423 + 2.112011

—0.664857 — 0.4668391

—5.12792 4 2.354661

—0.20423 — 2.112011

—0.651503 + 0.4844231

—5.19301 — 2.008191

—0.45901 + 4.036091

—0.651503 — 0.4844231

—5.19301 + 2.008191

—0.45901 — 4.036091

0.042814 + 1.2205401

—1.97107 + 1.502171

0

0.042814 — 1.2205401

—1.97107 — 1.502171

0

0.624478 + 0.4335711

1.64938 + 2.015891

4.08259 — 3.481021

0.624478 — 0.4335711

1.64938 — 2.015891

4.08259 + 3.481021

—0.181617 4 1.2972601

2.13974 — 1.341661

0

—0.181617 — 1.2972601

2.13974 + 1.341661

0

0.614989 + 0.2008761

5.34028 + 6.506841

7.37974 — 8.130211

0.614989 — 0.2008761

5.34028 — 6.506841

7.37974 + 8.130211

= 0.163827 + 1.3475601 —3.62256 + 2.892281 0
= 0.163827 — 1.3475601 —3.62256 — 2.892281 0
= 0.219969 + 1.3524101 0.44892 + 9.536911 0
= 0.219969 — 1.3524101 0.44892 — 9.536911 0
= —0.202204 + 1.3603801 —4.85892 — 6.228481 0
= —0.202204 — 1.3603801 —4.85892 + 6.228481 0

—0.574314 4 0.2118591

0.10203 — 3.401951

2.36486 + 8.988901

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

—0.574314 — 0.2118591

0.10203 + 3.401951

2.36486 — 8.988901




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.593296 + 0.0911461

6.41878 4 1.460421

10.68628 4 0.601681

u = —0.593296 — 0.0911461

6.41878 — 1.460421

10.68628 — 0.601681

u = —0.094939 + 1.4031701 —6.72408 — 0.551161 0
u = —0.094939 — 1.4031701 —6.72408 4 0.551161 0
u= 0.141219 + 1.4037001 —3.71284 + 3.636921 0
u= 0.141219 — 1.4037001 —3.71284 — 3.636921 0
uw= 0.06449 + 1.414511 —2.22010 — 2.722041 0
u= 0.06449 — 1.414511 —2.22010 + 2.722041 0

u=0.449146 4 0.3704701

1.87583 + 1.523791

1.42533 — 4.536331

u= 0449146 — 0.3704701

1.87583 — 1.523791

1.42533 + 4.536331

u = 0.175087 4 0.5372711

3.72771 — 3.589891

1.96909 + 2.441401

u= 0.175087 — 0.5372711

3.72771 + 3.589891

1.96909 — 2.441401

= 0.504340 + 0.126906.1

1.045820 + 0.4885781

7.62233 — 1.406151

u = 0.504340 — 0.1269061

1.045820 — 0.4885781

7.62233 4 1.406151

u=0.22963 + 1.468507 —4.48715 + 5.153401 0
u=0.22963 — 1.468507 —4.48715 — 5.153401 0
u = —0.24885 + 1.482131 —8.2124 — 13.54341 0
u = —0.24885 — 1.482131 —8.2124 + 13.54341 0
u = —0.23681 + 1.484791 —11.44400 — 5.645341 0
u = —0.23681 — 1.484791 —11.44400 + 5.645341 0
u= 0.24451 + 1.484021 —13.4161 + 9.69871 0
uw=0.24451 — 1.484021 —13.4161 — 9.69871 0
u = —0.22774 4 1.488771 —11.58670 — 5.212431 0
u = —0.22774 — 1.488771 —11.58670 + 5.212431 0
uw=0.21994 + 1.49282] —13.79450 4 1.205451 0
u= 0.21994 — 1.492821 —13.79450 — 1.205451 0
u = —0.21419 + 1.494471 —8.74495 + 2.647881 0
u = —0.21419 — 1.494471 —8.74495 — 2.647881 0

u = —0.230735 + 0.4102451

—1.120870 + 0.7452911

—4.58971 — 1.413651

u = —0.230735 — 0.4102451

—1.120870 — 0.7452911

—4.58971 + 1.413651




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 w0 — 15u% + - — 16u + 1
€2, C6, CT u® + U 4 2u+ 1
& u — w4 4 12045
C4 u® — % 4 - — 9T6u + 457
Cs, €10, C11 T R TR o |
cg, Cg, C12 u% + 7w 4 4 176u + 17




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 YOy 126y + 1
C2,Cq, CT Y 53y - — 2y 1
€3 Y50 — 7y ... 4 266y + 25
c ¥ +294% 4 ... 4 6707658y + 208849
€5, €10, C11 YO0 +57y% + .. — 2y + 1
C8; €9, C12 y%0 4+ 65y°° + - + 8430y + 289




